\%
N
=)
S

=
[
(@]

< d X > (um) for P
=
n o
o (@]

o

—100fr]

—-150fr]

...................................

..............

200

Ratig

0.95F

N
o
o

03630 40 50 60 70 80 90 100
Simulated interactions

<ox> (um)

Ratio

[63]

\S]
TTT T[T T T T [ TT T T[T TTT[TTTT[TTTT

i
; m+++++++++++*+++++ +++ +

30 40 50 60 70 80 90 100
Simulated interactions

< d x > tor merged vertices (um)

Ratio

0 45 50 55 60 65 70 75 80
Simulated interactions

—— DQM_TT__ original

iy
o
o

dy > (um) for PV
(@)
R AN R AR UL IR

-200]

-300

—-400

50 60 70 80 90 100
Simulated interactions

\Y
N
o
o

=

a1

(@)
T

<dz>(um) for P
=
a o
o (@]
T

............

93030 40 50 60 70 80 90 100
Simulated interactions

<oy > (um)

Ratio

<oz > (um)

60 70 80 90 100
Simulated interactions

50

40

30

..............................................

20 30 40 50 60 70 80 90 100
Simulated interactions

< dy > for merged vertices (um)

Ratio

0.95

70 80 90 100
Simulated interactions

50 60

o
o
o

[
o
(=)

T T T [ T T T
L

o
o
o

< 0z > for merged veytices (um,
3
o

L | £
SR A AR
— -1~ "‘.M.W‘I\-'*- ..I The----

%3630 40 50 60 70 80 90 100

Simulated interactions



	Contents
	Page 1


